396-001630

SureFire Accelerator Tanks and
SurelFire Pedestal Mounting Brackets
“ Ag Systems

SureFire Accelerator tanks can be mounted directly above a bar using the pedestal brackets. The
bracket attaches to a 6” - 8” wide bar. U-Bolts are sold separately, so you must select U-bolts below for
common heights of 7” or 8” wide tubes, or use the backer plate for any height of 6” or 7” wide bar with
suitable length 3/4” bolts. Pedestal brackets will work with all three sizes of Accelerator Tanks; 55, 110
and 155 gallon.

Accelerator Tank Kit Numbers:

524-01-005501—55 Gallon White Accelerator Top Fill Tank & Basin Kit
524-01-005550—55 Gallon Yellow Accelerator Top Fill Tank & Basin Kit
524-01-011001—110 Gallon White Accelerator Top Fill Tank & Basin Kit
524-01-011050—110 Gallon Yellow Accelerator Top Fill Tank & Basin Kit
524-01-015501—115 Gallon White Accelerator Top Fill Tank & Basin Kit
524-01-015550—115 Gallon Yellow Accelerator Top Fill Tank & Basin Kit

U-Bolt Description Part #
3/4” U-Bolt Kit - fits 77 x 7” tube (include nuts, flat and lock washers) 380-1060
3/4” U-Bolt Kit - fits 8” x 10” tube (includes nuts, flat and lock washers) 380-1064
3/4” U-Bolt Kit - fits 8" x 12” tube (includes nuts, flat and lock washers) 380-1066
3/4” U-Bolt Kit - fits 8" x 16” tube (includes nuts, flat and lock washers) 380-1067
3/4” U-Bolt Kit - fits 8” x 8” tube (includes nuts, flat and lock washers) 380-1077

396-001600 - 32” Diameter Page 1 Revised: 3/9/2022
Tank Kit Instruction Sheet © 2014 SureFire Ag Systems, Inc.



SurelFire
“Ag Systems

SureFire Accelerator Tanks
General Dimensions

[45.7]
1170

i 55 Gallon Tank

o [

] E
[2.7]
[18.5] 17
470 [5/8" BOLTS)

55 GALLON
WHITE POLY TANE

BLACEK POLY
RIMSE WATER
TANE

3/1&" STEEL BASE WITH
BLACK POWDERCOAT

WHITE FOLY

10%&mim

314" STEEL BASE WITH
BLACK FOWDERCOAT

II"—E-_AC'( POLY
RIMSE WATER
TAME

110 and 155

[72.8in]
1845mm

Gallon Tank

155 shown - 110 Gallon
only differs in total height.
110 Total Height is 34.9 in.

396-001600 - 32" Diameter
Tank Kit Instruction Sheet

Page 2
© 2014 SureFire Ag Systems, Inc.

Revised: 3/9/2022



% Step by Step Instructions

Surefire
Ag Systems

Step 1: Loosely u-bolt pedestal bracket to planter/
implement frame.

Step 2: Attach Accelerator tank base to pedestal
with quantity four 5/8” x 1-1/2” bolts, washer and
flange nut (8 sets per tank).

Step 3: Inspect tank and brackets for proper
clearance and tighten all bolts.

NOTE: The pedestal brackets can be adjusted
under the Accelerator Tank base using any of the
multiple slots included in the tank base for flexible
mounting options.

Backer Plate Instructions:
420-2015A1: Backer Plate
Kit Numbers: 515-203025

Step 1: Loosely bolt pedestal to frame/tube using \ Step 2
420-2015A1 backer plate and 3/4” bolts. Backer
plates can be used to mount on 6” or 7” bars of
any height. (4 Backer Plates required to mount
two pedestals)

Step 2: Attach Accelerator Tank base to pedestal
with quantity four 5/8” x 1-1/2” bolts, washer and
flange nut (8 sets per tank).

Step 3: Inspect tank and brackets for proper
clearance and tighten all bolts.

Step 1

396-001600 - 32” Diameter Page 3 Revised: 3/9/2022
Tank Kit Instruction Sheet © 2014 SureFire Ag Systems, Inc.



f‘% Optional Items that may be

SursFire suggested for this equipment .
Ag Systems
- [23.620n] - Kit Description:
i u T 6” Pedestal Kit for Saddles
ﬁ —~ f‘u o Kit Numbers:
Sroon) -1 19 éi'r’;m 152. 40mm 526-02-200275 (Black)
L o770 526-02-200280 (Green)
B s 1
H PTT
i 0 _
\ 0 0 /Z/ Kit Description:
Q 16” Pedestal Kit for Saddles
Kit Numbers:

[14.61in] [16.63in]

[7.87in] 371mm 422.35mm 526-02-200300 (Black)
soomm 526-02-200305 (Green)

A

g

L [23.622in]
I 600mm

.
\ I D V4
0 0 /‘ Kit Description:

22-5/8” Pedestal Kit for Saddles
Kit Numbers:

526-02-200350 (Black)
(O | 2l 526-02-200355 (Green)

[7.874in]
200mm

ll/ m 11
.

396-001600 - 32” Diameter Page 4 Revised: 3/9/2022
Tank Kit Instruction Sheet © 2014 SureFire Ag Systems, Inc.





